sy

=\

INSTRUCTION MANUAL

1. Use Allen key (T)
) and  Spanner  (U),
R e —— ) screws M6%45 (0), M6
oy D) 00 e Mo
First Leg Bar *20 ’
M6 (P) to connect the
Right Seat Panel (El)
e & ) and Left Seat Panel
B |&——— - @))»))))))))»)))) 8 (E2) connect.
Second Leg Bar M6*30
\» )
C| —— DY 5
Short Top Bar M6*45
AN
p| =——y o | °
Long Top Bar
78
shim
wl L 77 =
Right Seat Panel : @ 73 /
Plastic cap Use Allen Key (T), M6%20 2.Use Allen key (T) and M
E2 Screw (M) and M6 shim : Spanner (U), screws M6%45 : :
(Q) to connect First Leg ' (0), M6 shim (Q)*2, M6 nut ! Use the Allen Key L Please adjust the height | When not in use, please lay
Left Seat Panel &) 1 Bar (A), Second Leg Bar H (P) to install the Support ' (T) to attach the of the backrest to your 9 the cushion flat and fold it,
(B) and Top Bar (C). : Leg (F) to the seat plate. H Curtain Rod (G) (H) preference. : then place the rain cover (V)
. Allen Key ' 3 ! 7 to the frame. 9 :11 over the mat to keep it dry.
' ' '
---------- $ecccccccaa= cecccccccccpeccccccaa= cccccccccctocccccccaa
Support Leg ﬁg/\;j 1 H ] ]
Spanner 5292‘;\)1](‘9}\8 key (ElT)NEG SCEQW 2 : 1.Place the installed frame ! 8 Place the cushion 10:12
* , an shim ' on its side and use Allen key ' (L) onto the seat
G — — (Q) to connect the Short ' (T), screws M6%20 (M), and i panel.
Short curtain rod 1 Top Bar (C) to the \ M6 shim to connect the seat !
“ain cover installed Leg Bar (C) H plate and frame. H
(D) in Figure 1. 2.Use the Allen key (1),
H [a— ) screws M6%20 (M) and M6 shim
_ - (Q) to connect the top ends
Long curtain rod ’ of the Long Top Bar (D) and
M Top Bar (C) (D).
I %
Short curtain
DD G
Long curtain ,/é!/
g
Ceiling
L @
Mat
When installing, tighten all screws 80% first. After all installation is completed, A rain cover comes with the carton to cover all the cushions in bad
tighten them uniformly and install all Plastic cap (S) as shown in the figure. weather to protect them from getting wet.




